Comet Bay College





PLEASE ORDER ONLINE AT www.campion.com.au **USING "2VE5" AS YOUR CODE**

BEFORE Monday 19th December 2016 OR SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW

ALL ORDERS MUST BE PREPAID

TU	DEN.	ΓGI\	/EN	NAM	E(s)										STUDENT SURNAME													
EL	IVER	 У АГ	DRE	SS (For (easv	Deliv	/erv.	Pare	nt Na	me a	 & W	ork A	ddre] ess n	referi	red)								!			
		<u> </u>		,				, c. ,									<u> </u>											
	_												igwdown		<u> </u>	\vdash	\dashv	\dashv	\dashv	\dashv	\dashv	_	+	_	+	+	$\vdash \vdash$	\dashv
	<u> </u>	<u> </u>	<u> </u>													Ш												
SUB	URB																		\neg						\neg	POS	T COI	DE
PAR	ENT/	GUA	RDI	AN M	OBI	ĻE/PI	HON	<u>Ę NU</u>	MBE	R																		
-ΜΔ	IL AI	חח	ESS.	RFO	LIIRE	:n [<u> </u>	<u> </u>																				
	JDEN					_																						
				_	DE.	DIT	CAE		DE) A VI	MEN	JT.	\A/II	ı D	E DI	200	EGG	<u> </u>	Λ T T	1846	- OE	ORE)ED	ENIT	.DV			
	1			_	/NL 7	ווט	CAI	יטו	KLI	- A I I	VIL I	· · ·	VVIL			\ <u>\</u>			~: ·	IIVIL	- 01	OKL			<u> </u>			
	Mas	terC	ard		Vis	sa		Ca	rd N	o.:																		
	,			_	_					L					_				_	_				_				
Ехр	iry D	ate:]		(Card	hold	er's l	Nam	e:													
					J]																				
Sian	ature):																										
		_																										
																		D E	ΤΑ		_							

Your home delivery order will be dispatched the week ending 13th January 2017.

The delivery service is \$8 for orders placed by 19th December 2016. After this date a delivery charge of up to \$17.50 will be charged.

Please note: Any orders being returned to Campion by mail must be received two days prior to the cut off date at the top of this page to ensure your order does not incur a late fee.



Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 28 Kembla Way, WILLETTON WA 6155 Phone: 08 6240 2700

www.campion.com.au - Email: wasales@campion.com.au

RESOURCE LIST INSTRUCTIONS

HELPING YOUR SCHOOL / COLLEGE

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

OPTIONS TO ORDER

HOME DELIVERY

Order online at www.campion.com.au before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
 We recommend you use a Business address for delivery as all parcels must be signed for. If you are not home to receive your parcel it will have to be collected from the relevant Post Office.

Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders placed online after the cutoff date are considered a late order and will incur a postage and handling fee of \$5.50 per item to a maximum of \$17.50.

Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

While You Wait Service (Malaga or Willetton)

Please note long delays will be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Have a Question?

 Please go to www.campion.com.au for further information on account based ordering, store locations, digital support and other general enquiries.

REFUNDS

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2017 or 2 weeks after the purchase date (whichever is later).

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

TRADING HOURS

Monday - Friday

9:00am - 5:00pm

Extended Trading Hours

Saturdays 8:30am - 2.00pm **14th Jan 2017 - 4th Feb 2017**

INSTSECHDWA

Office Use Description Item Item Qty Unit Total No. Reqd Price \$ Amount \$

Ŋ

RESOURCE LIST

GENERAL NOTES

DO NOT send all personal items with your child on the first day of school. Teachers will advise students to bring particular items to their next class as required.

The following items only will be required on day one:

- All GENERAL STATIONERY items
- Display Books
- Mathematics Equipment

Please do not provide your child with spiral bound note pads with pages that need to be removed by tearing at a perforated edge. A lever arch file and loose leaf paper is recommended.

Comet Bay College does not permit the use of 'Correction Fluid'. Correction Tape is recommended.

Students are required to carry a school bag, the preferred colour being Navy Blue.

ONLY purchase items for the courses/subjects your child is enrolled in as per your 2017 Contributions and Charges Summary. If your child is enrolled in a course and it is not listed on this booklist, there are no additional stationery requirements for that course.

GENERAL STATIONERY - ESSENTIAL ITEMS

P56390	Loose Leaf Refills A4 7mm Pkt 500 Reinforced	1	1	14.95	14.95
P56329	Pocket Plastic 11 Hole A4 Box 100	2	1	6.95	6.95
P55709	Index Dividers A4 5 Tab (Board)	3	1	0.95	0.95
P50370	Highlighter Stabilo Swing Cool Yellow	4	1	2.10	2.10
P56095	Pen Ballpoint Cap Type Blue Medium	5	1	0.35	0.35
P56096	Pen Ballpoint Cap Type Red Medium	6	1	0.35	0.35
P56094	Pen Ballpoint Cap Type Black Medium	7	1	0.35	0.35
P51353	Glue Stick Artline Purple 40gm	8	1	2.50	2.50
P50271	Pencil (HB) Goldfaber	9	1	0.55	0.55
P52001	Pencil (2B) Goldfaber	10	1	0.55	0.55
P50265	Eraser Plastic Pencil Small With Sleeve	11	1	0.30	0.30
P56245	Sharpener Pencil Metal Single Hole (HQ)	12	1	0.85	0.85
P56414	Ruler 300mm Plastic Clear	13	1	0.70	0.70
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	14	1	8.50	8.50
P55110	Binder A4 2D Ring PVC 25mm Black	15	3	4.50	13.50

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	OPTIONAL PURCHASE					
	STUDENT DIARY:					
	Comet Bay College produces it's own student diary for					
	purchase by students. This diary is itemised as an					
	optional cost on your Billing Items Sheet/Invoice at a cost					
	of \$5.00. Whilst the College Diary is our preferred choice					
	for students as it contains information relevant to the					
	college, families may choose to purchase the following					
P51601	diary as an alternative.	16		4	1.05	1.05
F31001	Diary A5 Student Collins 2017 (New Edition for 2017)	16		1	1.95	1.95
	BIOLOGY - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	17		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	18		2	1.20	2.40
P04902	Nelson Biology Units 1&2 AC (Print & Digital) [Martin]	19		1	79.95	79.95
	BUSINESS MANAGEMENT - GENERAL (UNITS 1/2)					
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	20		1	8.50	8.50
	CAREER AND ENTERPRISE - GENERAL (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	21		2	1.95	3.90
P55551	Exercise Book A4 8mm 96 Page	22		2	1.20	2.40
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	23		1	12.95	12.95
P07907	WA Career & Enterprise (CAE) General 11 [Michael Carolan]	24		1	60.50	60.50
	CERT II INFORMATION, DIGITAL MEDIA TECHNOLOGY					
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	25		1	8.50	8.50
	CERT II MUSIC					
P55097	Lever Arch File A4 Board	26		1	4.35	4.35
P55912	Music Book 96 Page 64pg Feint/32pg Staved 225x175mm	27		1	1.70	1.70
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	28	Ш	1	8.50	8.50
	CHILDREN, FAMILY AND THE COMMUNITY					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	29		1	8.85	8.85
P55551	Exercise Book A4 8mm 96 Page	30		1	1.20	1.20
	CHEMISTRY - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	31		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	32		2	1.20	2.40
P04887	Nelson Chemistry Units 1&2 AC (Print & Digital) [Smith et al]	33		1	79.95	79.95
	COMPUTER SCIENCE - ATAR (UNITS 1 AND 2)					
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	34		1	8.50	8.50

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	DANCE CENEDAL (UNITS 4 AND 2)					
P55551	DANCE - GENERAL (UNITS 1 AND 2) Exercise Book A4 8mm 96 Page	35		1	1.20	1.20
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	36		1	8.50	8.50
. 0000.	PERSONAL ITEMS:	30	ш	'	0.50	0.50
	Dance students are required to purchase the following items					
	not supplied by Campion:					
	GIRLS - BLACK leotard, plain BLACK shorts, SKIN COLOURED					
	dance leggings, BLACK jazz shoes.					
	BOYS - Plain BLACK shorts/trousers, plain BLACK t-shirt,					
	BLACK jazz shoes. These items are available for purchase					
	from "Attitude for Dance" in Port Kennedy at a discounted price for Comet Bay College Dance students.					
	price for Cornet Bay College Darice Students.					
	DANCE - ATAR (UNITS 1 AND 2)					
	Students will require the following items IN ADDITION TO					
P55551	the GENERAL STATIONERY items:	27		4	1 20	1.20
P56667	Exercise Book A4 8mm 96 Page USB Pocket Flash Drive 8GB - NO RETURNS	37 38		1 1	1.20 8.50	8.50
1 00001	PERSONAL ITEMS:	30		'	0.50	0.50
	Dance students are required to purchase the following items					
	not supplied by Campion:					
	GIRLS - BLACK leotard, plain BLACK shorts, SKIN COLOURED					
	dance leggings, BLACK jazz shoes.					
	BOYS - Plain BLACK shorts/trousers, plain BLACK t-shirt,					
	BLACK jazz shoes. These items are available for purchase from "Attitude for Dance" in Port Kennedy at a discounted					
	price for Comet Bay College Dance students.					
	DESIGN: PHOTOGRAPHY - GENERAL (UNITS 1 AND 2)					
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	39		1	12.95	12.95
P55901	Multi Card Reader Shintaro 11 in 1	40		1	15.95	15.95
	DESIGN: PHOTOGRAPHY - ATAR (UNITS 1 AND 2)					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	41		1	8.85	8.85
P55153	Binder Book A4 8mm 128 Page	42		1	1.75	1.75
P51353	Glue Stick Artline Purple 40gm	43		4	2.50	10.00
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	44		1	12.95	12.95
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	45		1	8.70	8.70
	DRAMA - ATAR (UNITS 1 AND 2)					
P55709	Index Dividers A4 5 Tab (Board)	46		1	0.95	0.95
P55321	Clipfolder A4 PVC Black	47		1	3.95	3.95
P55551	Exercise Book A4 8mm 96 Page	48		1	1.20	1.20
P55097 P07615	Lever Arch File A4 Board	49		1	4.35	4.35 62.00
P13780	WA Drama: Year 11 ATAR/Year 12 General [Stinton] Hoods (Currency Play) [Angela Betzien]	50 51		1 1	62.00 22.99	22.99
P00651	A Doll's House & Other Plays (Inc Lady From The Sea) [Henrik Ibsen]	52		1	14.99	14.99
	ENGINEERING - GENERAL (UNITS 1 AND 2)					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	53		1	8.85	8.85
P50237	Lecture Book A4 7mm 905 Spiral Bd at Top	54	\Box	1	3.65	3.65
P50006	Pencil (HB) Micador Essential	55		5	0.35	1.75
P60040	Safety Glasses Unisafe C-View SN150	56		1	7.25	7.25
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	57		1	12.95	12.95

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
DE0407	ENGINEERING STUDIES - ATAR (UNITS 1 AND 2)	5 0		4	0.05	0.05
P52187 P50006	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	58 50		1	8.85	8.85
P52082	Pencil (HB) Micador Essential USB Pocket Flash Drive 16GB - NO RETURNS	59 60		5 1	0.35 12.95	1.75 12.95
1 32002		60	ш	1	12.95	12.95
DECOM	ENGLISH - FOUNDATION (UNITS 1 AND 2)	04		4	0.05	0.05
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	61		1	2.95	2.95
P55551 P55484	Exercise Book A4 8mm 96 Page	62 63		2	1.20 2.35	2.40 2.35
P55442	Document Wallet PP Foolscap Green Display Book A4 20 Pocket Black Refillable	64		1	1.95	2.35 1.95
P11260	Cambridge Essential English Skills AC Yr 10 WB 2E (Print) [Brownhill et al]	65		1	24.95	24.95
1 11200	(New Edition for 2017)	05		'	24.33	24.93
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	66		1	8.50	8.50
	ENGLISH - GENERAL (UNITS 1 AND 2)					
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	67		1	2.95	2.95
P55551	Exercise Book A4 8mm 96 Page	68	$\overline{}$	2	1.20	2.40
P55484	Document Wallet PP Foolscap Green	69	$\overline{}$	1	2.35	2.35
P55442	Display Book A4 20 Pocket Black Refillable	70	$\overline{\Box}$	1	1.95	1.95
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	71		1	8.50	8.50
	ENGLISH - ATAR (UNITS 1 AND 2)					
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	72		1	2.95	2.95
P55551	Exercise Book A4 8mm 96 Page	73		2	1.20	2.40
P55484	Document Wallet PP Foolscap Green	74		1	2.35	2.35
P55442	Display Book A4 20 Pocket Black Refillable	75		1	1.95	1.95
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	76		1	8.50	8.50
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	77		1	5.45	5.45
P11657	Good Answers English 2017 (Due Term 2)	78		1	28.00	28.00
	Please note the title above will not be available until 2nd					
	term and will be delivered in bulk to the school for distribution.					
	GEOGRAPHY - GENERAL (UNITS 1 AND 2)					
P11663	Geography Skills Unlocked	79		1	43.95	43.95
D05022	(New Edition for 2017)	00		4	40.05	40.05
P05022	Coastal Environments at Risk [Ford]	80		1	40.95	40.95
	GEOGRAPHY - ATAR (UNITS 1 AND 2)					
P52001	Pencil (2B) Goldfaber	81		2	0.55	1.10
P50090	Ruler 300mm Wooden	82		1	1.10	1.10
P56354	Protractor 10 cm 360 4" Full Circle	83		1	0.75	0.75
P50154	Compass Maped Study SY120 Metal with Pencil	84		1	3.25	3.25
P55285	Calculator HP Scientific HP-10s	85		1	24.45	24.45
P07448	WA ATAR Hazards Networks & Interconnections Year 11 [Norman Snell]	86		1	50.00	50.00
P11663	Geography Skills Unlocked (New Edition for 2017)	87		1	43.95	43.95
	HISTORY (ANCIENT) - GENERAL (UNITS 1 AND 2)					
P10673	Antiquity 1 - Preliminary Stage 6 (3E) [Hurley et al]	88		1	82.95	82.95
	HISTORY - ATAR (UNITS 1 AND 2)					
P10602	Weimar & Nazi Germany [Hinton]	89		1	68.95	68.95
P02304	Power Prosperity & Promise (USA 1898-1941)(Stg 6) [Justin Briggs]	90	$\overline{\Box}$	1	68.95	68.95
			_			

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HUMAN BIOLOGY - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	91		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	92		2	1.20	2.40
P06953	WA ATAR Human Perspectives Units 1&2 (Print & Digital) (7E) [Newton & Joyce]	93		1	76.50	76.50
	INTEGRATED SCIENCE - GENERAL (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	94		2	1.95	3.90
P55551	Exercise Book A4 8mm 96 Page	95		2	1.20	2.40
P10367	WA Forensic Science General Student Book	96		1	32.95	32.95
	LITERATURE - ATAR (UNITS 1 AND 2)					
P55110	Binder A4 2D Ring PVC 25mm Black	97		1	4.50	4.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	98		1	2.95	2.95
P02915	Crucible: Play in Four Acts (Penguin Modern Classic) [Arthur Miller]	99		1	19.95	19.95
P02626	Sometimes Gladness Collected Poems 1954-2005 (6th edn) [Dawe]	100		1	42.95	42.95
	MATERIALS DESIGN AND TECHNOLOGY (METAL) - GENERAL	_				
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	101		1	8.85	8.85
P50006	Pencil (HB) Micador Essential	102		5	0.35	1.75
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	103		1	12.95	12.95
	MATERIALS DESIGN AND TECHNOLOGY (WOOD) - GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	104		1	1.95	1.95
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	105		1	8.85	8.85
P50006	Pencil (HB) Micador Essential	106		5	0.35	1.75
P60040	Safety Glasses Unisafe C-View SN150	107		1	7.25	7.25
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	108		1	12.95	12.95
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	109		1	5.45	5.45
	MATHEMATICS ESSENTIALS - GENERAL (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	110		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	111		2	1.20	2.40
P55557	Exercise Book 225x175mm 8mm 128 Page	112		2	1.15	2.30
P55662	Grid Book A4 5mm 96 Page	113		1	1.45	1.45
P55278	Calculator Texas Scientific TI-30XBM Multiview	114		1	34.95	34.95
P04952	Nelson Senior Maths Essentials 11 AC (Print & Digital) [Kemp, Binn & Thomson]	115		1	72.95	72.95
	MATHEMATICS APPLICATIONS - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	116		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	117		2	1.20	2.40
P55557	Exercise Book 225x175mm 8mm 128 Page	118		2	1.15	2.30
P55662	Grid Book A4 5mm 96 Page	119		1	1.45	1.45
P04929	Nelson Senior Maths General 11 AC (Print & Digital) [MacBeth-Dunn et al]	120		1	83.50	83.50
P07002	WA ATAR Course Study Guide Mathematics Applications Year 11 [Greg Hill]	121		1	40.00	40.00
P55279	Calculator Texas TI-Nspire CX CAS Touchpad Colour	122		1	249.00	249.00
	MATHEMATICS METHODS - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	123		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	124		2	1.20	2.40
P55557	Exercise Book 225x175mm 8mm 128 Page	125		2	1.15	2.30
P55662	Grid Book A4 5mm 96 Page	126		1	1.45	1.45
P04935	Nelson Senior Maths Methods 11 AC (Print & Digital) [Stephen Swift]	127		1	83.50	83.50
P07049	WA ATAR Mathematical Methods Year 11 Course Revision Series [OT Lee]	128		1	44.00	44.00
P55279	Calculator Texas TI-Nspire CX CAS Touchpad Colour	129		1	249.00	249.00

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS SPECIALIST - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	130		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	131		2	1.20	2.40
P55557	Exercise Book 225x175mm 8mm 128 Page	132		2	1.15	2.30
P55662	Grid Book A4 5mm 96 Page	133		1	1.45	1.45
P04940	Nelson Senior Maths Specialist 11 AC (Print & Digital) [Stephen Swift]	134		1	83.50	83.50
P07059	WA ATAR Mathematics Specialist Year 11 Course Revision Srs [OT Lee]	135		1	44.00	44.00
P55279	Calculator Texas TI-Nspire CX CAS Touchpad Colour	136		1	249.00	249.00
	PHYSICAL EDUCATION - GENERAL (UNITS 1 AND 2)					
P07622	WA Physical Education Studies: Year 11 General [R Gaujers]	137		1	65.00	65.00
	PHYSICS - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	138		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	139	$\overline{}$	2	1.20	2.40
P04894	Nelson Physics Units 1&2 AC (Print & Digital) [Cody et al]	140		1	79.95	79.95
	POLITICS AND LAW - ATAR (UNITS 1 AND 2)					
P55097	Lever Arch File A4 Board	141		1	4.35	4.35
P06531	Civics & Citizenship: Intro to Politics & Law in Aust (3E) [Willmott]	142		. 1	78.95	78.95
P08345	Making & Breaking The Law - VCE Units 3&4 (10th edn) [Aldous]	143		1	81.99	81.99
		0	_		01.00	01.00
P55442	PSYCHOLOGY - GENERAL (UNITS 1 AND 2)	111		0	1.05	2.00
	Display Book A4 20 Pocket Black Refillable	144		2	1.95	3.90
P04638	WA ATAR Psychology: Self & Others 1-4 (Print & Digital) (2E) [Fletcher et al]	145		1	79.95	79.95
	PSYCHOLOGY - ATAR (UNITS 1 AND 2)					
P04751	VCE Psychology Research Methods Workbook (2E) [Kristy Kendall]	146		1	24.95	24.95
P08346	Macmillan VCE Psychology Units 3&4 (Print&Digital)(5th edn) [Grivas]	147		1	90.99	90.99
	VISUAL ARTS - GENERAL (UNITS 1 AND 2)					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	148		1	8.85	8.85
P56081	Marker Artline #200 Black 0.4mm	149		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	150		1	3.50	3.50
P50265	Eraser Plastic Pencil Small With Sleeve	151		1	0.30	0.30
P50775	Jasart Brush Round White Taklon Size 0	152		1	2.50	2.50
P55223	Brush Roymac Achiever White Taklon Round 02	153		1	2.95	2.95
P50209	Brush Water Colours Round Squirrel #3060V/ 3	154		1	5.35	5.35
P52157	Brush Roymac Achiever White Taklon Round 04	155		1	3.30	3.30
P50969	Brush Roymac Achiever White Taklon Round 06	156		1	3.60	3.60
P55226	Brush Roymac Revolution Round 01	157		1	7.25	7.25
P50034	Sketch Block Cartridge A3 25 Leaf	158		1	3.50	3.50
	VISUAL ARTS - ATAR (UNITS 1 AND 2)					
P55442	Display Book A4 20 Pocket Black Refillable	159		2	1.95	3.90
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	160		1	8.85	8.85
P56081	Marker Artline #200 Black 0.4mm	161		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	162	$\overline{}$	1	3.50	3.50
P50265	Eraser Plastic Pencil Small With Sleeve	163	$\overline{\Box}$	1	0.30	0.30
P50775	Jasart Brush Round White Taklon Size 0	164	<u> </u>	1	2.50	2.50
P55097	Lever Arch File A4 Board	165	$\overline{\Box}$	2	4.35	8.70
P55223	Brush Roymac Achiever White Taklon Round 02	166	$\overline{\Box}$	1	2.95	2.95
P55237	Brush Water Colours Taklon #907/4	167	$\overline{\Box}$	1	7.20	7.20
P52157	Brush Roymac Achiever White Taklon Round 04	168	$\overline{\Box}$	1	3.30	3.30
P50969	Brush Roymac Achiever White Taklon Round 06	169	$\overline{\Box}$	1	3.60	3.60
			_			

Office Use	Description		Item No.	∡ I Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P55226	Brush Roymac Revolution Round 01		170		1	7.25	7.25
	Number of Boxes ticked:						
	Delivery, pack	aging & handling		\$8.0	0		
	ESTIMATED AN (PRICES CORRE			\$			

 $[\]square$ Yes, please email me with information on current Year 11 and 12 Study Guides.